Whitman College

Econ 407

Exam 2

November 15, 2006

Write all answers in your blue book.  Show all of your work.    The exam ends at 2:20.

1. (a) (5pts)  Define and explain the moral hazard problem of deposit insurance.

In 1980, approximately half of the Savings and Loan (S&L) banks in the United States were insolvent. 

(b) (5pts)  Define an insolvent bank.

(c)  (5pts)  Why were so many S&Ls insolvent in 1980?

(d)  (5pts)  In what way was the moral hazard problem of deposit insurance made worse by the insolvencies in the S&L industry?

2.  (15pts)  In the December 7, 2005 article “Long Study of Great Depression Has Shaped Bernanke’s Views” the Wall St. Journal states that Milton Friedman and Anna Schwartz upended the view that the Depression was inevitable when they published their 1963 book “A Monetry History of the United States, 1867-1960,” in which they claim that the Depression was brought about by an “inept” Federal Reserve.  The WSJ goes on to report that at a 2002 conference honoring Friedman, Federal Reserve governor Ben Bernanke told Friedman: “Regarding the Great Depression.  You’re right, we did it.  We’re very sorry.  But thanks to you, we won’t do it again.”  

Describe the inept Federal Reserve actions that caused or prolonged the Great Depression.  What motivated the Fed to take these actions, and how did the actions contribute to the Great Depression?

3.  Consider the following information about a hypothetical economy.  Between 1990 and 2005 the average annual rate of growth of real output was 4.4%, the money supply grew at an average annual rate of 5.9%, and the average annual nominal interest rate was 4.7%.  

(a)  (15pts)  Assume the Classical Quantity Theory (CQT) of money holds.  What was the average annual real interest rate over this period?  

(b)  (5pts)  Why does the CQT predict average inflation rates fairly well over the course of fifteen years, yet not be able to predict the inflation rate over the course of a single year?  

4.  Suppose that you are the economic adviser to a member of Congress.  Your boss has read "Fed Wrestles With Setting Inflation Target" (Wall St. Journal 10/31/06 p. A8, by Greg Ip).  

According to this article, "the closer some officials looks, the more they believe a 1% - 2% [inflation] range is too low."  

(a)  (15pts)  Your boss asks you to explain why a 1% - 2% inflation range might be too low.

The WSJ article also states that "target advocates, including Mr. Bernanke, have moved towards a flexible target that gives greater weight to restraining unemployment, not just prices."

(b)  (15pts)  Your boss has heard that the Fed currently uses something called the Taylor Rule.  He asks you to explain, in detail, what the Taylor Rule is, and whether it describes the Fed giving “weight to restraining unemployment, not just prices.”

(c)  (15pts)  Your boss is considering suggesting to Mr. Bernanke that the Fed explicitly target inflation and unemployment.  He asks for your economic analysis of such a policy. 

